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log,
_ 2x+1 _ 3
3x-11
_2x+1 9
S 3x—11 1
=9(Bx—11)=2x+1
=27x-99=2x+1
=25x =100
_loo_,
25

X

Vr= (IAJ(I/JCOSS
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2l 4 |=JBY +QY +@Y QY + @) +(5) cosd
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6+8—35=+/62./45cos 9

21

A 62 x45
21
3 =cos™
[¢2790j

$=1134

cos 9 =

Let x represent he weight of the students
66 —-67.6 79 -67.6
66<x<79)=p ——<z<———
p( ) p( 6.2 6.2 j
= p(~0.258 < z <1.839)
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-oasg O b3y

= p(0<z<1.839)+ p(0 <z <0.258)
=0.4670+0.1018

= 0.5688(tab)
xf(x) x* f(x)
0 0
0.3 0.3
1.0 2.0
0.6 1.8
Dx f(0)=19 | Y x*f(x)=4.1

var(x) = E(x*) - (E(x))

=4.1-(1.9y
=0.49
Let 59 and 510 be the distances moved after 9seconds and 0 seconds respectively

=0ms™' -
u ms | U= OmS 1

2
S =ut+—at 4
| 2 a = 1lms

S, =—xax8l

> T2 t = Sseconds
_8la |
B 2

2 S =ut+—at
S = xax100 2
_100a S = l 1)X5
o Ly
25
S=—=12.5m
Distance 2 m

In the 10t second
S0 =Sy =9.5m
100a  8la _95

2 2
19a =19
a=1lms"
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3x+y=4
2x—4y =26

ZIJO ) [4 j
by N S B
Fae WE By

ol

“14x = 42
x=3
14y =70
y=35
S.x=3and y=5
2
R, Ry d d? 620’
1 1 0 0 =
8 8 0 0 b (n )
5 5 0 0
2 25 | 05 0.25 6
6.5 7 0.5 0.25 10(99)
6.5 6 05 0.25
10 10 0 0 =1-0.00606067
3 25 05 0.25 B
4 4 0 0 =0.9939393
9 9 0 0
Saro1| =0.99394dp)

Comment: it is a very high positive correlation

S, =g(2a+(n—1)i)

u, :a+(n—1)d
u, =a+4d
u, =a+6d

3a+15d =95.......... (i)
Uy, =a+9d =49
a+9d=45..... (if)
Solving (i) and (ii)
3(49-9d )+15d = 95
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147 -27d +15d =95
52=12d
PR
13
a=49-9d
a=10

S, = %(2(10))+ (2- 1)%

fanf?)

= 744.333333333333
~ 744.333394dp)

Total savings

= 60000 + (60000 + 5000 )+ (60000 + 215000 )+ 60000 + 20(5000)
=20x 60000 + 50001 + 2 + 3+ ———+20)

=1200000 + 5000(? Q@)+ 19(1))

=1200000 +5000(10]21))

=1200000 + 5000(210)
= 5h5.2,250,000

p = BAE006-653+ 431 978+704+472+29%
4 4
2244 2450

4 4
=561.00 = 612.5

pr, 2 9264653+ 4314275 | 704+472+296+1003
4 4
2285 2475

4 4
=571.25 = 618.75

_431+43142754978 4724296 +1003+728

M, 4 ’ 4

2337 2499

4 4
=584.25 = 624.75
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p, = BLr27549784704 |~ 296+1003+728+498
4 4
2388 2525

4 4
=597 =631.25

_275+978+704 + 472
4

M

2429

4
=607.25

(c)
103 +728+498 + x

4
= 665

=665

2229+x

x+2229 =2660

x =2660-2229

x =431

Number of shows that were sold in the first quarter of 2016 was 431 pairs
of shoes.

p(4UB) =-P(4 UB):%

p(Pnd)+ P(A)P(B):%—O

1-(PC4)+ P(B)- %) = %

P(a)+ P(B)- =1
4P(4)+4P(B)-1 3

4 T4
4P(4)+4P(B)=4
P(4)+ P(B)=1............ (i)
4p(A)pB)=1......... (ii)
4p(4)1-P(4))=1
4P(4)-4P(P(A)Y =1
Utp(4)=1t
4t -4t =1
47 —4t+=0

sum="4
pud =4
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factors(—2,-2)
47 -2t -2t +1=0
202t -1)-Qt-1)=0
@t-1)2t-1)=0
1

t=—
2

1

p(4)= >

P(B)=1-P(4)
=1-=

. P(4)=0.5and p(B)=0.5
P=0.6
0=04
N=8

E(x)=nP
=8x0.6=4.8
~ Sdrivers

(i) p(x =3)=2C(0.6) (0.4)
=0.1239(4dp kal
(i) p(x = 6)= p(x > 7)
= ple="7)+p(x=8)
=4 C0.6)(0.4) +5 C(0.6) (0.4)
=0.0896 +0.0168
0.1064(4dp )al

2

d 2 -3 2346
dx 2
=3x"-3x-6
=3(* —x—2)

2

TV _6x3

dx
=3Q2x-1)
3x* =3x-6=0
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x2=x-2=0
sum =—1
pud =-2

factor(=2,1)
¥ +x-2x-2=0
x(+1)-2(x+1)=0

(x—2Xx+l): 0

x=2orx1
When x =2
y=C1) -2 ) -6@)+12

:—1—z+6+12
3

—2-3+12+24

31
. stationary points are (2,2) and (-1, 2)
Nature

2
4V | —6()=3=9>0->min

dx?
dzy

= V =6(=1)-3=-9<0— max
X

(2,2) is a minima and (—1,%) is a maxima
b)
4 =3+0x

Idy :I(3+9x)ix

9x?
=3x+—+C
y=3x+ > +
15:3(2)+§(2)Z+c

15=6+18+C
15=24+C
C=-9

52y =6x+9x =9 or y:3x+%x2 -9

13.
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Ages f X fx cf Class
boundaries
16-20 6 18 108 6 15.5-20.5
21-25 12 23 276 18 20.5-25.5
26-30 7 28 196 25 25.5-30.5
31-35 5 33 165 30 30.5-35.5
36-40 6 38 228 36 35.5-40.5
> f=36 > fx=973
B(i) mean = &
2
973
36

=27.0278years(4dp)

(ii) Mode = Lot( a jC
d +d,

=205+ (LJS
6+5

=23.2273 years(4dp)
(c) Percentage of women who marry at an age of 30 and above

_ 40.24.4 «100%
= 15.6 x100%
0
=39%
L Qwmi’l
A

W«_—asm

+"M‘ l

élfmj
Using F=ma
50-Fmax=0-————————— @)
F_.. =50N v Swit
_..ﬁ__
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U =0ms"

V =10ms™"
workdone = 50
t="?

S =100m

Fxd =50
100F =50

F: =l
2

a=—+—
2 5
1 5
a=—x—

2 1

a=2.5ms™"

Using V =u +at
10=0+2.5¢

t= ﬂ = 4seconds
2.5

.. It takes 4seconds to move a distance of 100m
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